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Find the complex number that represents the following point.

z

What kind of figure is the entire point z that satisfies the following equation?

Iz 2i| 1

21 1

Circle with radius 1 centered at point 2 i .

|z 3i| 2

Iz 2i| Iz 4|

2 A(2i),8B(4) AB 2
Perpendicular bisector of line segment AB
connecting two points A(2 i) and B(4)

zz 2z 2z 12
(z 2)(z 2) 16 |2 2|* 4
Iz 2| 4
2 4

Circle with radius 4 centered at point 2.

Al 2i 10 i A
(21). e 0i) CMiddIepoint
2 i 6 10 i 6 12 i
(2i) ( i) I
2 2
B(6),c(6 10i) BC L
A(2i),L(6 5i)
AL 2
divide internally
1x(2i) 2x(6 5i) 12 12 i
2 1 3
4 4 i
B(6),N(3 i)
BN 2 1 G
A(2i),G6(4 4i)
AG 3 L
divide externally
1x(2i) 3x(4 4i) 12 10 i
3 1 2
6 5 i
B(6),G(4 4i)
BG 3 1 M
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AC

BC

1
1
3
4]
AB
3
z a bi




O Ala), B(B) OA OB
X
o 2 i,B x 2i
OA OB B woa Wy

y 1 x 1
a 3 i,B x i
ABC BAC

o 1,8 3 i,y 2 3i
Yy o 1 3i (1 3i)(2 i)
B o 2 i (2 |)(2 |)
5 5i
1 i
5
S] T O T
1 i \/5(005 7 i sin )
BAC ?
A(2),B(4 3i),c( 1 2i)




O Ala), B(B) OA OB
X
a 2 i,B x 4i

o 1,3 2 i,y 1 21
Yy o 2i 2i(1 i)
B o 1o (2 i)(2 i)
2 2
1 [
2
(S T O 71T
3 .. Tt
1 [ \/i(cos i sin )
31T
BAC 4




o) Ala), B(B) OA OB
X
a 2 i,B X 21
OA OB B woa W yi
X 21 yi(2 i) y 2yi
X y , 2 2y
y 1 x 1
a 3 i,B X i
ABC BAC
A(1),B(3 i)c(z2 3i)
o 1,3 3 i,y 2 3i
vy o 1 3i (1 3i)(2 i)
B o 2 i (2 i)(2 i)
5 5i _
1 i
5
(S) T 60 711
1 i \/i(cos 1: i sin )
TT
BAC 4
A(2),B(4 3i),c( 1 2i)

0 2 o,B
B (S) T O
(@ {
3 0,a,B
4c¢ 6apB 32 0
(o4 4 6B 3%} 0
2
(E) o[&) « o
(@ { (@ {
B [ 2 V3 1J
p 1+ \/§ \/§ ( > + > 1
B 2 (COS LS =+ 1 SIn LS )
o V3 6 6
0(0), Alx), B(B)
B 0 B TT
o 0 o AOB & ——
B O B 2
‘ o o‘ ‘ o ‘ 7 V30B 20A
OAB AOB —%}—
TT TT TT
6 2 3
4cf 2ap B O




